
Homework 6 Math-1700-es31 2013 January 22

8.2.11 Either
w

sin3 x cos3 xdx =
w

sin3 x(1− sin2 x) cos x dx =
w

(sin3 x− sin5 x) d(sin x) =
1
4

sin4 x− 1
6

sin6 x + C

or
w

sin3 x cos3 xdx = −
w

(1− cos2 x) cos3 x(− sin xdx) =
w

(cos5 x− cos3 x) d(cos x) =
1
6

cos6 x− 1
4

cos4 x + C.

(The constant in the second answer is 1/12 more than the constant in the �rst answer.)

8.2.25 First, w π

0

È
1− sin2 tdt =

w π

0

√
cos2 tdt =

w π

0
|cos t| dt.

For 0 ≤ t ≤ π/2, we have cos t ≥ 0; for π/2 ≤ t ≤ π, we have cos t ≤ 0. Thus,
w π

0
|cos t| dt =

w π/2

0
cos t dt−

w π

π/2
cos tdt

= (sin t)
��π/2

0
− (sin t)

��π
π/2

= sin
�

π

2

�
− sin 0− sin π + sin

�
π

2

�
= 2.

8.2.41 w
sec4 θ dθ =

w
(tan2 θ + 1) sec2 θ dθ =

w
(tan2 θ + 1) d(tan θ) =

1
3

tan3 θ + tan θ + C.
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